


In the following questions, each question is divided into five 

parts. Rearrange the following parts into a meaningful 

sentence and mark the option accordingly



The irreconcilable differences between Punjab chief minister 

Amarinder Singh and Navjot Singh Sidhu (A)/ have created 

much noise but what has emerged as a bigger (B)/ headache 

for the Congress central leadership is the defiance of (C)/ 

Rajasthan chief minister Ashok Gehlot against the (D)/ efforts 

to accommodate Sachin Pilot loyalists (E)

1. ABCED

2. BDCAE

3. CEADB

4. CDAEB

5. No arrangement required



A reflection on the weak central leadership (A)/ if issues 

aren’t resolved soon (B)/ While the turmoil in party-ruled 

states is doubtless (C)/ Rajasthan is certain to erupt again 

(D)/ and an effective crisis management system in the 

Congress (E)

1. DBAEC

2. CAEDB

3. CDEAB

4. ABDCE

5. No arrangement required



will receive at least two billion of such doses (A)/ 

Addressing the 15th edition of the India-US Bio Pharma

& Healthcare Summit (B)/ Dr Bourla also said that Pfizer 

has made a specific plan that the mid (C)/ being 

organized by the US-India Chamber of Commerce (D)/ 

and low-income countries, which include India (E)

1. BDCAE

2. BCDAE

3. CEADB

4. BDCEA

5. No arrangement required



The border standoff between the Indian and Chinese 

militaries (A)/ erupted on May 5 last following a violent 

clash (B)/ in the Pangong lake areas and both sides (C)/ 

gradually enhanced their deployment by rushing in tens of 

thousands (D)/ of soldiers as well as heavy weaponry (E)

1. ABCED

2. BDCAD

3. ADCBE

4. CDEAB

5. No arrangement required



an appeal against the Home Secretary’s decision or the 

Westminster (A)/ The appeal was before a High Court judge 

for a decision on the papers submitted (B)/ Magistrates Court 

February ruling in favour of Nirav Modi’s extradition (C)/ for 

the appeal to determine if there are any grounds for (D)/ to 

India to face charges of fraud and money laundering (E)

1. BDACE

2. AECDB

3. DEABC

4. ABEDC

5. No arrangement required



Rearrange the following five sentences (A), (B), (C), (D), and 

(E) in the proper sequence to form a meaningful paragraph, 

then answer the questions below them.



A. One of the most immediate and obvious consequences of 

global warming is the increase in temperatures around the world.

B. That year Earth's surface temperature was 0.99 degrees 

Celsius warmer than the average across the entire 20th century.

C. Before 2016, 2015 was the warmest year on record, globally.

D. The average global temperature has increased by about 0.8 

degrees Celsius over the past 100 years.

E. Since record-keeping began in 1895, the hottest year on 

record worldwide was 2016, according to NOAA and NASA 

data.

Which of these should be 

the THIRD sentence after 

rearrangement?

1. E

2. C

3. D

4. B

5. A



Which of these should be 

the FIFTH sentence after 

rearrangement?

1. B

2. A

3. E

4. C

5. D

A. One of the most immediate and obvious consequences of 

global warming is the increase in temperatures around the world.

B. That year Earth's surface temperature was 0.99 degrees 

Celsius warmer than the average across the entire 20th century.

C. Before 2016, 2015 was the warmest year on record, globally.

D. The average global temperature has increased by about 0.8 

degrees Celsius over the past 100 years.

E. Since record-keeping began in 1895, the hottest year on 

record worldwide was 2016, according to NOAA and NASA 

data.



Which of these should be 

the FIRST sentence after 

rearrangement?

1. C

2. B

3. A

4. D

5. E

A. One of the most immediate and obvious consequences of 

global warming is the increase in temperatures around the world.

B. That year Earth's surface temperature was 0.99 degrees 

Celsius warmer than the average across the entire 20th century.

C. Before 2016, 2015 was the warmest year on record, globally.

D. The average global temperature has increased by about 0.8 

degrees Celsius over the past 100 years.

E. Since record-keeping began in 1895, the hottest year on 

record worldwide was 2016, according to NOAA and NASA 

data.



Which of these should be 

the FOURTH sentence 

after rearrangement?

1. E

2. B

3. A

4. C

5. D

A. One of the most immediate and obvious consequences of 

global warming is the increase in temperatures around the world.

B. That year Earth's surface temperature was 0.99 degrees 

Celsius warmer than the average across the entire 20th century.

C. Before 2016, 2015 was the warmest year on record, globally.

D. The average global temperature has increased by about 0.8 

degrees Celsius over the past 100 years.

E. Since record-keeping began in 1895, the hottest year on 

record worldwide was 2016, according to NOAA and NASA 

data.



Which of these should be 

the SECOND sentence 

after rearrangement?

1. C

2. E

3. B

4. A

5. D

A. One of the most immediate and obvious consequences of 

global warming is the increase in temperatures around the world.

B. That year Earth's surface temperature was 0.99 degrees 

Celsius warmer than the average across the entire 20th century.

C. Before 2016, 2015 was the warmest year on record, globally.

D. The average global temperature has increased by about 0.8 

degrees Celsius over the past 100 years.

E. Since record-keeping began in 1895, the hottest year on 

record worldwide was 2016, according to NOAA and NASA 

data.



The following sentences form a paragraph. The rest of the 

sentences are marked as A, B, C, D, E and F. Sentence 'C' is in 

the correct place. The rest of the sentences are not given in 

their proper order. Read the sentences and answer the 

following questions.



Which of these should be 

the FIFTH sentence after 

rearrangement?

1. E

2. D

3. A

4. B

5. F

A. Artificial Intelligence refers to the intelligence of machines.

B. Most noteworthy, Artificial Intelligence is the simulation of 

human intelligence by machines.

C. With Artificial Intelligence, machines perform functions such 

as learning, planning, reasoning and problem-solving.

D. Furthermore, many experts believe AI could solve major 

challenges and crisis situations.

E. This is in contrast to the natural intelligence of humans and 

animals.

F. It is probably the fastest-growing development in the World of 

technology and innovation.



Which of these should be 

the FIRST sentence after 

rearrangement?

1. D

2. A

3. E

4. B

5. F

A. Artificial Intelligence refers to the intelligence of machines.

B. Most noteworthy, Artificial Intelligence is the simulation of 

human intelligence by machines.

C. With Artificial Intelligence, machines perform functions such 

as learning, planning, reasoning and problem-solving.

D. Furthermore, many experts believe AI could solve major 

challenges and crisis situations.

E. This is in contrast to the natural intelligence of humans and 

animals.

F. It is probably the fastest-growing development in the World of 

technology and innovation.



Which of these should be 

the SIXTH sentence after 

rearrangement?

1. D

2. E

3. F

4. B

5. A

A. Artificial Intelligence refers to the intelligence of machines.

B. Most noteworthy, Artificial Intelligence is the simulation of 

human intelligence by machines.

C. With Artificial Intelligence, machines perform functions such 

as learning, planning, reasoning and problem-solving.

D. Furthermore, many experts believe AI could solve major 

challenges and crisis situations.

E. This is in contrast to the natural intelligence of humans and 

animals.

F. It is probably the fastest-growing development in the World of 

technology and innovation.



Which of these should be 

the FOURTH sentence 

after rearrangement?

1. F

2. A

3. B

4. D

5. E

A. Artificial Intelligence refers to the intelligence of machines.

B. Most noteworthy, Artificial Intelligence is the simulation of 

human intelligence by machines.

C. With Artificial Intelligence, machines perform functions such 

as learning, planning, reasoning and problem-solving.

D. Furthermore, many experts believe AI could solve major 

challenges and crisis situations.

E. This is in contrast to the natural intelligence of humans and 

animals.

F. It is probably the fastest-growing development in the World of 

technology and innovation.



Which of these should be 

the SECONDsentence

after rearrangement?

1. D

2. A

3. F

4. E

5. B

A. Artificial Intelligence refers to the intelligence of machines.

B. Most noteworthy, Artificial Intelligence is the simulation of 

human intelligence by machines.

C. With Artificial Intelligence, machines perform functions such 

as learning, planning, reasoning and problem-solving.

D. Furthermore, many experts believe AI could solve major 

challenges and crisis situations.

E. This is in contrast to the natural intelligence of humans and 

animals.

F. It is probably the fastest-growing development in the World of 

technology and innovation.



The following sentences form a paragraph. The second and 

fifth sentences of the paragraph are given. The rest are 

numbered as P, Q, R, S and T. These five parts are not given in 

their proper order. Arrange them in the correct order to make 

the paragraph meaningful and then answer the questions given 

below.



A. P. The first translation into modern English was made by J. M. Kemble in 1837.

2. Two years later Nicolai Grundtvig made the first translation into a modern language, 

Danish.

Q. The English translation done by Francis B. Gummere in 1919 is out of copyright 

and freely available on several websites.

R. The more recent of these, in both prose and verse form, are also available today.

5. Since 1919, there have been many modern English translations.

S. Originally written in Old English, the first translation of the poem was into Latin by 

Thorkelin, in connection with his transcription of 1818.

T. In total, it is estimated that the epic poem has been translated about 65 times in 

English alone. 

SPQRT or S2PQ5RT.



A. A Good education gives many purposes to the life such as enhancement of the personal 

advancement, increase social health, the economic progress, set goals of life, make us aware 

towards many social issues and gives solutions to solve environmental problems and other 

related issues. 

B. It is an essential tool for getting a bright future as well as plays a most important role in the 

development and progress of the country.

C.  Education provides the ability to understand all the human rights, social rights, duties and 

responsibilities towards a country. 

D. Modern education system is fully capable to remove the social issues of illiteracy and 

inequality among people of different race, religion and caste. 

E. Nowadays, education has become very simple and easy because of the implementation of 

distance learning programmes. 

F. Education is must for both men and women equally as both together make a healthy and 

educated society. 

FBAEDC
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